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Q. Converting a digital signal into an analog signal is called 

(A) modulation 

(B) demodulation 

(C) conversion 

(D) none of these 

 

Answer: (A) modulation 

 

Q. An important property of fiber optic is 

(A) refraction 

(B) reflection 

(C) interface 

(D) none of these 

 

Answer: (A) refraction 

 

Q. In C++, the library function exit() causes an exit from the 

(A) statement 

(B) loop in which it occurs 

(C) function in which it occurs 

(D) program in which it occurs 

 

The answer is: (D) program in which it occurs 

 

Q. NTFS stands for? 

(A) New Trend File Saving 

(B) Network File Saving 

(C) New Technology File System 

(D) None Of These 



The answer is: (C) New Technology File System 

 

Q. Which variable type can have only two possible values? 

(A) integer 

(B) string 

(C) double 

(D) bool 

 

The answer is: (D) bool 

 

Q. IP is implemented at which OSI Model layer? 

(A) Transport 

(B) Network 

(C) Datalink 

(D) Presentation 

 

Answer: (B) Network 

 

Q. Internet uses _______ to communicate between devices and networks. 

(A) HTTPS 

(B) email 

(C) website 

(D) internet protocol suite 

 

The answer is: (D) internet protocol suite 

 

Q. In C++, a pointer is 

(A) address of a variable 

(B) variable for storing addresses 

(C) data type of an address variable 

(D) constant value 

 

The answer is: (B) variable for storing addresses 
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